= o
A & 0l & AF 2 E A A
20209 &= =0lat LB H 2ot
2AMd: 2322
M 2s0s
& 230z B (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E ottt 20,327,751 18,756,744 1,571,007
= 1,326,968
s 1,540,000
J| 751,447
= 3,158,023
s 13,551,313
23tz 3,729,805 2,579,381 1,150,424
= 9,906
s 1,300,000
J| 133,910
< 17,528
s 2,268,461
Zstils &5 3,371,693 2,214,169 1,157,524
= 9,906
s 1,300,000
2l 133,910
< 17,528
s 1,910,349
Fatol= 2el 84,653 70,180 14,473
101 @124l 24,473 0 24,473
04 JIZHHNZ2Z2XNSE+ 24,473 0 24,473
O Zstolz=2el JI2bM er2dd] 24,473
— JlE32 : 68,720& 260 17,868, 000& 17,868
— F=5x% ! 68,7203 x52& 3,574,000 3,574
— X% : 68,720&+15 1,031,000& 1,031
— 4HEHE 2,000,000& 2,000
201 €82l 28,180 33,180 A5,000
01 At 22l 24,680 24,680 0
O «Er249l 19,000
— o=z 222 MAH 4,000,000 4,000
- Zsil=z g2 & &= ME 7Y
15,000, 000& 15,000
O =20 JARE 2
80,000& = 7& = 32 1,680
O 2stll= - Hs - 2ZEA 52 22X S
=l 4,000,000& 4,000
02 =24l 3,500 8,500 A5,000
O dds NEFH A4 sl 1,500, 000& 1,500
O 2932 Ald |Xidl 2,000,000& 2,000
203 YR =&t 7,000 4,000 3,000
03 Al =AY R =& 7,000 4,000 3,000
O stz AIMIR =8| 7,000,000& 7,000
401 A& HIZ 201 Y| 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000




fAH: S2st22 1
M 2s0s
& 230z B CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 23tAIE ot E HH| 10,000, 000& 10,000
O H2dst2 HE=* 10,000, 000& 10,000
405 XHobF S HI 5,000 5,000 0
02 =M=l 5,000 5,000 0
O ZssdFI} TN 2L 5,000,000 5,000
=0lo & Y BH2SIH @A =& 15,000 330,000 A 315,000
201 L4l 15,000 100,000 A 85,000
03 & Ar2 Z I 15,000 100,000 A 85,000
O HM508 Zlol & A A 15,000, 000& 15,000
OleY 01 & ZSHO &= 16,000 26,000 A 10,000
101 @14l 6,000 6,000 0
4 JI2ZtHZE2EXREES 6,000 6,000 0
O It & 2&tktel =HEH| 6,000,000 6,000
401 AIEHI L 20HEI 10,000 20,000 A 10,000
01 A& HI 10,000 20,000 A 10,000
O OI®Z= HIOH Al E==&H|
10,000,000& * 1JH 2 10,000
dgesd=sH 22 A& 6,000 6,000 0
301 LA F 6,000 6,000 0
09 #HALAHIXI &3 6,000 6,000 0
O dgizds=H 20 X3 6,000
— UBE EEML BY
30,0004 = 2 = 509H 3,000
— BAUR EHMS 2Y
30,000& = 2 = 509H 3,000
EE2s 0l ALXE(012) 185,670 238,000 A 52,330
J| 133,910
< 15,528
fia 36,232
307 glz2tol & 185,670 238,000 A 52,330
J| 133,910
< 15,528
[ia 36,232
02 IZHE M AHE L 185,670 238,000 A 52,330
O Sg=23 0l8d AMEXR 185,670, 000& 185,670
J| 133,910
< 15,528
s 36,232
StU0l=2Z A X (=4l) 19,812 19,812 0
= 9,906
e 9,906
307 glz2+ol & 19,812 19,812 0
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2AMd: 2322
M 2s0s
& 230z B CEE-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O de23dy T2 29|
20,000,000& 20,000
Z3 dz= ¢d 84 X 36,715 42,000 A5,285
307 gl2tol & 36,715 42,000 A5,285
02 DAAMAARE 36,715 42,000 ~5,285
O 2&til=s &Hd SEX& 36,715,000& 36,715
FEsssUEH J|g4y 3,078 3,078 0
307 glz2tol & 3,078 3,078 0
04 QIZFHALAIH E = 3,078 3,078 0
O BESS=0sY Hi26EE J|EA
3,078,000& 3,078
JlsHZELM HASY 6,300 6,300 0
307 gl2tol & 6,300 6,300 0
04 DIZHHALALSE E X 6,300 6,300 0
OJls WIS dd LA 6,300,000& 6,300
gus ¥2 23 8,100 8,100 0
307 glz2+ol & 8,100 8,100 0
04 QIZFHALAIH 2 = 8,100 8,100 0
O 2= Aesds M 8,100,000 8,100
=LS0l HAEY HASHA 14,000 14,000 0
307 21201 A 14,000 14,000 0
04 QIZFHALAIE B = 14,000 14,000 0
O sL=S0l HAEE ASHA 14,000,000 14,000
Zsgn AMUH 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 DIZHHALALSE E X 12,000 12,000 0
O Zsen AMUMH = 12,000,000 12,000
FEFZ HERE3 AHUSAY 4,463 4,463 0
307 glz2tol & 4,463 4,463 0
04 DI2FSHALAIE &2 = 4,463 4,463 0
O HE2Z HERES AHUISAMY
4,463,000 4,463
oF=2 QAL JIEAS 6,955 36,670 N29,715
307 gl2tol & 6,955 3,670 3,285
04 DIZHHALALSE E X 6,955 3,670 3,285
O S22 A JIE ALY 6,955,000& 6,955
st= A Ol NI EAlE 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
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SN 2T
M 2s0s
& 230z B
SA - ZE-B(EA) - NRAY - B S il &t o il
ZECAUIQ AL A 20,000 20,000
307 gl2tol & 20,000 20,000
04 DIZFSHAIAIRI 2 = 20,000 20,000
O H1038 HE2aU 2AAMINLH
20,000,000& 20,000
OlEE 22 A 10,000 10,000
307 21201 A 10,000 10,000
04 DIZHHALALSE E X 10,000 10,000
O 0&EE Z22HAM 10,000, 000& 10,000
22 JAEESR 245 A Y 20,000 20,000
201 £B-2dH| 20,000 20,000
01 At 22l 20,000 20,000
O 2spIs= 292 HE
10,000, 000& 10,000
O 2&gs &It s SS2HFIHER 88
10,000, 000& 10,000
Fad 2HE SAEAM 18,000 18,000
307 21201 A 18,000 18,000
04 DIZHHALALSE E X 18,000 18,000
O #2249 28 3% A 18,000, 000& 18,000
FEZ A diE 5,000 5,000
307 gl2tol & 5,000 5,000
04 DIZHHALAISE E X 5,000 5,000
O ZE= AY diXtE 5,000,000& 5,000
ds YEel AN 2,100 2,100
307 glz2+ol & 2,100 2,100
04 QIZFHALAIH B = 2,100 2,100
O Y=cl g4 2,100,000& 2,100
JEE Za=H 105,000 105,000
307 21201 A 105,000 105,000
04 QIZFHALAIH B & 105,000 105,000
O M43 =i 2st=H 2  105,000,000& 105,000
ZMALY =2 ZSHed A 3,000 3,000
307 gl2tol & 3,000 3,000
04 DIZHHALALSE E X 3,000 3,000
O ALY =2 ZSHA 3,000,000& 3,000
ZEHEA =2 2SS A 2,000 2,000
307 glz2tol & 2,000 2,000




EX: S22
MM 230z
& 230z B CEE-ED
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
04 SIZ2ISHAAIH E & 2,000 2,000 0
O LEUHEAI 22F 0| =2 2EH A}
2,000,000& 2,000
R3] MAIG 4,000 4,000 0
307 2Iz2to| A 4,000 4,000 0
04 SIZ2HSHAAISH E & 4,000 4,000 0
O H23 423 &AlF 4,000,000 4,000
s 353 MF 400,000 800,000 A 400,000
402 SI2FXHE0| & 400,000 800,000 A 400,000
01 BIZtXIEAYE X (KM TH ) 400,000 800,000 A 400,000
O & a3 A= 400,000,000 400,000
=M T A4 HAIY 5,000 5,000 0
307 QI2t0| & 5,000 5,000 0
04 CIZ2tSHALALS B = 5,000 5,000 0
O &M Y7 A SHAAS 5,000,000& 5,000
(AMHBENEA B2 S50l 2822t ZAAY 2,167,000 0 2,167,000
= 1,300,000
= 867,000
401 Al HI L 2 0HHI 2,167,000 0 2,167,000
hag 1,300,000
= 867,000
01 Al&H| 2,159,200 0 2,159,200
O 23tz 232 24AY
2,159,200,000& 2,159,200
g 1,295,520
= 863,680
03 Al 201 Y| 7,800 0 7,800
O 230l S22 ZEAY A2
7,800,000 7,800
g 4,480
= 3,320
S5 XA 325,917 325,917 0
23t XA 275,917 275,917 0
307 2I2t0| ™ 275,917 275,917 0
02 AI2tAAMAIE E =X 160,000 160,000 0]
O 23 AIgEes I 160,000,000 160,000
03 QIZI X EHESIGHIEX 86,917 86,917 0
O 23 AIR=& & BX3 oA
86,917,000 86,917
04 QIZ2tSHAFAFS B X 29,000 29,000 0
O 23ty ALK 29,000,000 29,000
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7,695
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0l &t o
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EX: S22
Mz S22
Sl NESH BE U MBS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 2,700 2,700 0
O SM=Y A 2222 500,000 500
O 23 M=H S&EA A8 KA
1,000,000 1,000
O 23 M MI|&EH HNEH =5
50,000 *24 04 2~ 1,200
202 044 3,000 0 3,000
01 2L Hl 3,000 0 3,000
O 23 gFFA 3,000,000& 3,000
401 AlEHIZL 20 Y| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
O 23 =Y =2 3l 20,000,000 20,000
2 XNE2SHE S (24]) 1,088,820 1,404,280 A 315,460
= 762,174
& 163,304
= 163,342
401 AlEHIZL £ 0HY| 332,820 92,215 240,605
=2 232,974
< 49,904
= 49,942
01 Al&H| 248,200 66,397 181,803
O =IJNE 23N B+ 248 ,200,000& 248,200
= 173,740
o=t 37,230
= 37,230
02 2teld| 84,000 25,215 58,785
O Z2INAE St 24 Z2ldl 84,000,000& 84,000
= 58,800
= 12,600
= 12,600
03 AlE 20| 620 603 17
O =2IJHXE 83 84 204 620,000& 620
2 434
[ 74
= 112
402 SI2FXHE0| ™ 756,000 1,312,065 A 556,065
= 529,200
o= 113,400
= 113,400
02 QIZEXIEAISE X (0| XM THLH) 756,000 1,312,065 A 556,065
O A AASAHE FHHHIAY
756,000,000& 756,000
= 529,200
== 113,400
= 113,400
HXE2SM 2% 80,000 80,000 0




2N
X ZH -
L= B

el

fol ton

Mo = e
o i oy

2 [0 [Ho

O

U B

HL— ™
17
He
[pal
0%

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL £ 0HY| 40,000 40,000 0
01 Al&H| 40,000 40,000 0
O HXE 23 2% 40,000,000 40,000
402 SI2F 20| & 40,000 40,000 0
01 QI E AL EX (M) 40,000 40,000 0
O HIXNEZ2SM B 40,000,000 40,000
AE& ALAlI 22 ALY 9,000 9,000 0
101 e1214| 9,000 9,000 0
04 J|12ZtHIZ22NEES 9,000 9,000 0
O &8k AAl2el 2] 9,000,000& 9,000
CXE 25 E4(%H|) 360,500 360,500 0
&< 180,250
= 180,250
401 AlEHIZL 2 0HY| 302,500 302,500 0
== 151,250
= 151,250
01 Al&H| 302,500 302,500 0
O EXE 23 2% 302,500,000 302,500
= 151,250
= 151,250
402 SI2F 20| ™ 58,000 58,000 0
= 29,000
= 29,000
02 QX2 A E X (0| & THS) 58,000 58,000 0
O EXNE St B 58,000,000 58,000
= 29,000
= 29,000
2HZ A RSO 8,113,748 8,367,102 A 253,354
Jl 26,329
== 2,563,430
= 5,523,989
A A= 2,461,048 2,582,000 N 120,952
Dl 26,329
= 430
= 2,434,289
22 XE 22| 482,900 461,460 21,440
201 et d| 292,900 278,260 14,640
01 AFR 2t 2| bl 268,460 255,260 13,200
O 2FIEE(&EH MA)
2,500& = 16,0000H4 40,000
O =g otH S (2EXNE) M
40,000,000 40,000




SN 2322
My BEMY NENY
ool BBAY FE CER-ED
SA-ZH () - HRAY - BES Off &4 %Eﬁ Hwsz
NHE 22,20 2222 AN
30,000,0002 30,000
O SERBOYSE 2S2(AROT) A=
20,000,000 20,000
O "OIS UM ZEDX Okn ' SLH FI=
5,0002 * 4,0002 20,000
O EHMLHIAANE £ 70,0002 * 9Y » 23] 1,260
O 2%, JEEH 228 BU3IC ME
10,0008 * 704 7,000
O QY 2FERE CIXO N ME
700,008 * 10 7,000
O 452 ZQNA 92 2D
5,000,008 * 24 & * 2044 20,000
O34 2 F4A ZQXE AL &1
5,000,008 * 242 * 304 30,000
O HE0Y M8 HOIAS, AAEIY M2
2y 20,000,0008 * 14 20,000
O B2BUIN ABHEHZ(U - 2A=201) 7
= 200,0002 * 1002 20,000
O Bl 22HA BT FD 13,200,0002 13,200
02 2zl 24,440 23,000 1,440
O HBESS L 2 L Yyl
20,000,000 20,000
O MEte gz 600 *2, 500 *23] 3,000
O ZQABNE LANSI| ®II23
20,0002 * 64 * 12042 1,440
306 2013 150,000 150,000 0
BEEE] 150,000 150,000 0
O Hot-E 2BIEIZ 2043
50,000,00024 150,000
401 A& HIZL 2O HI 40,000 33,200 6,800
01 Al& I 40,000 33,200 6,800
O X2 I£5T2 X4 ESHUE L Ho
uy 5,000,0008 * 474 2 20,000
O BFANES S8 BBHY Ha
20,000,0002 20,000
OB AR 10,000 10,000 0
401 A& HIL 2O 10,000 10,000 0
01 Al& I 10,000 10,000 0
O AR2 QUE e+ U CRR|CEX &7
5,000,002 * 27§ £ 10,000
EH AR 15,000 35,000 20,000
401 A& B 2O bI 15,000 15,000 0
04 BALRHRI Al £ 15,000 15,000 0
O BAE JIBAIE 15,000, 0002 15,000
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S22
A S
BEael IE (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g8 g =M 1,524,800 1,544,800 A20,000
201 £B-2d| 20,000 40,000 A20,000
01 At 22l 20,000 40,000 A20,000
O HM133 Ega E2 =M AI20Ae HE
20,000,000& 20,000
202 o4l 4,800 4,800 0
01 = LH 4 HI 4,800 4,800 0
O 2=H =& 0ol 20,0003 *4F 102 «6°= 4,800
307 glz2tol & 1,500,000 1,500,000 0
04 QIZFHALAIH E = 1,500,000 1,500,000 0
O HM13s Ega ¥ 250 29
1,500,000, 000& 1,500,000
2B EI 29 101,000 113,500 A 12,500
301 LEHZ 78,000 78,000 0
09 HALAHIX RS 3,750 3,750 0
O 2t2Zoi&AH(D) e8NS 4 AHE4
125,000& = 23] = 159 3,750
12JEEd =S 74,250 74,250 0
O =st2Zoi&AH(0t) &Sl 74,250,000& 74,250
307 21201 A 23,000 35,500 A 12,500
02 HAFHAANFEE 13,000 25,500 A 12,500
O 2at2ZHEA(D}) DIIEsRL(EFS)
00,000& = 154 3,000
O Sst2ZGHEA(I) g #Entol2 2
500,000& * 54 2,500
O 2st2ZaHEAH(O) 23 dxior
500,000& * 159 7,500
12 Q2o &= H| 10,000 10,000 0
O 2st2ZHEAH(I}) RIELS
10,000,000& « 13l 10,000
HeEZM 13,500 13,500 0
307 glz2+ol & 13,500 13,500 0
04 QIZFHALAIH E = 13,500 13,500 0
O H302 MEERM 13,500, 000& 13,500
I ZHHEA 2L (013) 53,088 39,980 13,108
J| 26,329
< 430
s 26,329
301 LA F 53,088 39,980 13,108
J| 26,329
< 430
[ia 26,329
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o
SN B SR(EH) - MBAY - BES 04l &t o e
12 JIEH2 & 2 53,088 39,980
O Haa st 51,798,0002 51,798
p] 25,899
2 25,899
O 2A=20f e A 2SH| 1,290,0002 1,290
p] 430
= 430
2 430
HTL LM 13,500 13,500
307 £12+0| & 13,500 13,500
04 DIZHBAAIR 2 T 13,500 13,500
O H27sl 2 oA 13,500, 0002 13,500
27 e 60,000 60,000
201 L2yl 60,000 60,000
03 #A2 &t 60,000 60,000
O SYX HBAN JINE BE
20,000,0002 * 13} 20,000
O I 223 o 220 0N B
20, ooo 0008 * 13l 20,000
O ZBBY AKX BE
10,000,0002 * 13| 10,000
O A 2 220 O/HE 29
5,000,008 * 23l 10,000
ZERY, SH AYD =of 16,800 16,800
301 LB A 12,000 12,000
12 JlEH2 & 2 12,000 12,000
O A¢T S0 JEE 2
1,000,008 * 122 12,000
401 A& B 2O b 4,800 4,800
01 Al& I 4,800 4,800
O A8E £0f Y2 &% 4,800,00024 4,800
BEOIA 2 18,460 18,460
201 L2yl 18,460 18,460
01 AL 2reltl 5,000 5,000
O o4 29 HIERY 5,000,000 5,000
02 2zl 13,460 13,460
O o4 ®JlQ
40,0002 * 204 * 12942 960
O oA AIZHI X 2,500,008 * 54 12,500
X E9200I9E 2 18,000 18,000
201 L2yl 18,000 18,000
01 AL 2rel bl 18,000 18,000
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fAH: S2st22 1
Hu: DAY IENY
Sl 2t AN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,520,506 828,745 691,761
O JYZX e X =4 At
1,520,506, 000& 1,520,506
< 760,253
e 760,253
03 Al 2 THHI 5,494 5,255 239
O FEd (¢ 22X 20U
1,526,000,000& * 0.36% 5,494
< 2,747
e 2,747
dgd el =24 150,800 149,302 1,498
101 1244 dl 7,500 7,500 0
04 JIZHHZ2Z2XRHEE S 7,500 7,500 0
O MW =8 L a8z TEHH o9
5,000,000& « 14 5,000
O 8l HAazel oY
0,000& = 1% = 50¢& 2,500
201 £B-2dH| 99,300 96,046 3,254
01 At 22l 20,200 18,440 1,760
O AN&EE 22 428 FL(EAEFR, SE
g) 5,000,000 5,000
O MRPSE (YR, 22 2|8 S)
4,200,000 4,200
O M2l #23H L 22 (E=I 8)
6,000,000 6,000
O 22X 2% 5,000,000& 5,000
02 2324l 79,100 77,606 1,494
O MYH B2l g +42(520|, AHHL
g) 26,000,000 26,000
O &8t 3=323(&J, 84, oY 5)
43,000,000& 14 43,000
O dYl & 3 2ol (gY, 5= - 29
3 HL E) 3,700,000& 3,700
O W=7 & ¢gd)] &% +4 1,400,000 1,400
O M2l & Hitx 2223 (HO= I3
, of=HMelAld Zel) 5,000,000 5,000
401 AIEHI L 20 44,000 43,336 664
01 A& Bl 44,000 43,336 664
O ¥l & HOts wX2el 44,000,000 44,000
SIS NAMNL (S 22AA S TAAMNY AL 2,000,000 334,000 1,666,000
) (X120l )
< 1,000,000
s 1,000,000
401 AIEHI L 201 2,000,000 334,000 1,666,000
< 1,000,000




EX: S22
Hu: DAY IENY
Sl B ANY CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 1,000,000
01 Al&H| 1,992,800 331,595 1,661,205
O OEZ2YA SN JANEY LAY
1,992,800,000& 1,992,800
< 996,400
= 996,400
03 AlIE 21| 7,200 2,405 4,795
O AZ2OYA SHBBTANY LAY Al
=N 2,000,000, 000 x0.36% 7,200
< 3,600
= 3,600
AME ST (X2 MENHOIIIE EAALY 1,600,000 334,000 1,266,000
Y(KIBH0I )
o= 800,000
= 800,000
401 Al HI L E0HHI 1,600,000 334,000 1,266,000
< 800,000
= 800,000
01 Al&H| 1,594,240 331,595 1,262,645
O &2 MEHHIOIIIE XA ALY Al&H]
1,594 ,240,000& 1,594,240
< 797,120
= 797,120
03 Al 201 Y| 5,760 2,405 3,355
O &2 MEHHIOIIIE XAEAY Al 20|
1,600,000, 000& *0 . 36% 5,760
= 2,880
= 2,880
=HZ2 J|BAIA 65,600 65,600 0
201 et 9| 54,600 65,600 A 11,000
02 s32%H| 54,600 65,600 A 11,000
O &8 22 AEE IS
2,500,000& * 1204 & 30,000
O BiY S=012 A= MOt 22|
242 (HIE 24, HUIIAIL)
250,0008 » 1204 <& 3,000
O B8 2012 dMI)B(HEES, 1))
A, SHEA E) 3,000,0008 ~ 400 € 12,000
O 88 S=018 2222
1,200,000 ~ 80 & 9,600
401 AlEHIZL 2 0HY| 11,000 0 11,000
01 Al&H| 11,000 0 11,000
O =48 22 NS A & B
11,000,000& 11,000
SEAY AANSE 24 21,500 21,400 100
201 Yet2 | 8,500 11,400 £2,900




fAH: S2st22 1
Hu: DAY IENY
el R AR CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 8,500 11,400 A 2,900
O J8uyd dA3d 3322 (HI, =&)
8,500,000 8,500
401 A& HIZ 201 I 13,000 10,000 3,000
01 A& HI 13,000 10,000 3,000
O 3g8ay Nd2 RIE=> 13,000, 000& 13,000
HEIE JIBAIA 50,000 300,000 A 250,000
401 Al HIZ 201 8] 50,000 300,000 A 250,000
01 A& HI 50,000 300,000 A 250,000
O ZEd clXE & HEQERTY NEES
50,000,000& 50,000
MEds 5,460,974 4,352,119 1,108,855
2 500,000
s 240,000
J| 460,768
< 233,511
i 4,026,695
HMsdsete 5,460,974 4,352,119 1,108,855
2 500,000
s 240,000
J| 460,768
= 233,511
s 4,026,695
HsAL=2el 250,673 221,200 29,473
101 @14 Hl 44,473 15,000 29,473
04 JIZHHZ2XRHEES 44,473 15,000 29,473
O MsALs2e ExHA 92
20,000,000& 20,000
O MEAES2el JI2HM2ZX el 24,473
- Jl=s 17,867,200& 17,868
- =5 3,573,440 3,574
- EX==g 1,030,800 1,031
— 402" 2,000,000& 2,000
201 Yur2 Y| 168,000 168,000 0
01 At 22l 24,800 24,800 0
O st&a A2F 6,500,000 6,500
O =D e AEZ 1,800,000& 1,800
O "o 8E A= 50,000 = 4CH = 12& 2,400
O =589 WA & 7 50,000& =104 500
O A22H2E € 472 =448 3,000,000 3,000
O MSAE=S 224 Sl 5,000,000& 5,000
O HgEstda & + 5,000,000 5,000




fAH: S2st22 1
M s
el Msds2el
SA - ZE-B(EA) - NRAY - B S il &t o il
O MESAEE 0188 HAES +Y
600,000 600
02 =224l 143,200 143,200
O dUds2 & SL2sd &8I
4,000,000& = 12& 48,000
O dJetdzeltd =3 (dg3Hs2)
500,000& = 12& 6,000
O Aot =+3F 470,000& = 128 5,640
O &IIGETAMN =2 900,000& »12& 10,800
O &I Aty 150,000& »12& 1,800
O a3 5,000,000 5,000
O ZdIEA=SH(ZEIMS2, dUHs2)
400,000& = 123 4,800
O AgotME3IH| 100,000& * 23| 200
O s2g338a 3,300,000 3,300
O 3stx22a =HE 1,000,000& * 23| 2,000
O #Egts =8 360,000& 360
O HMsA&2e Az 12,000, 000& 12,000
O MSAEZEH KX 10,000, 000& =1 10,000
O ZEHIERE HIIR=S 3,000,000& 3,000
O dEMsSANE 2323 3,700,000& 3,700
O dUHs2 AUl E40E8Y 5,000,000& 5,000
O ZEILEXZE HESAE MRS
21,600,000& 14 21,600
206 M= Hl 10,200 10,200
01 Ml 10,200 10,200
O HMEAES 2F3==222 HzE 7
5,000& * 300 1,500
O MEBAE2 MU=SEE 27
4,000,000 4,000
O &fzel8 4H-7e 2,000,000& 2,000
O MSAEES 2FEE £ 1,000,000 1,000
O S84 WlxJ12Y 2E 2
70,0003 = 104 700
O MESA&EE &0 ¢tFI| 7Y 1,000, 000& 1,000
307 glz2tol & 28,000 28,000
05 RIZHRI & 3 28,000 28,000
O dEZAHE=SE 2Z 22l 6,000,000& 6,000
O dEXN=s2d 2d22 10,000, 000& 10,000
O ZEHMSAE 222 (HUA B3R, 52,
O &) 12,000, 000& 12,000
O e 20,000 20,000
401 AIEHIZ 28I 20,000 20,000
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Zst2-Z
HN=dE
Hexsze GEERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O sHes 5,000,000& 5,000
O &3gqdie ReE= 200,000& = 23| 400
O «=g% ga2¢ 40,000,000& 40,000
O =8H=HEH AEEH sl
15,000, 000& 15,000
O x=gd% gl&ze 2208 |RALE L
2,040,000& 2,040
O Aord M2 U8 222
350,000& 1201 & 4,200
206 M= Hl 9,540 10,240 AT700
01 M2 4l 9,540 10,240 A700
O =& JI¢HE 2 700,000& 700
O dIde & M) ¢ 1,000, 000& 1,000
O =g& Z2XJ| 24 7 60,000& 25 *43] 480
O +9% P A48 42 2
300,000 300
O 4% +RPRR ALAE 7Y
350,000& * 14 4,900
O 423 +zB28 SEM 2Y
30,000& * 68 » 120 & 2,160
HEAE &= 20,000 20,000 0
401 AIEHI L 2CHYI 20,000 20,000 0
01 A& HI 20,000 20,000 0
O dUds2, EEXeTENSE =FAIE
g2 20,000,000& 20,000
HMEAE &5 (Z4l) 130,000 110,000 20,000
< 130,000
401 Al HIZ 2018 130,000 110,000 20,000
< 130,000
01 A& HI 130,000 110,000 20,000
O EZ 2MS, S, SHH, 4S8, 3
dAH 2SIIFEX 30,000, 000& 30,000
< 30,000
O ¥EZ BESS HSH, 29T 243N
100,000, 000& 100,000
= 100,000
fls8s XN 94,350 94,350 0
301 LEAZ 94,350 94,350 0
NVi=td - 2sRS24= 94,350 94,350 0
O 2=Hsds 84 94,350
- =0 500,000& = 5% = 128 30,000
- Eg=g 200,000 = 5% = 12& 12,000
— d==224 200,000& = 58 « 123 12,000
— d0= 500,000& = 5% = 600% 15,000
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Off &t 24
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50,000& = 59 * 128
450,000& = 5& * 23]
30,000& = 108 + 123
200,000& » 5% = 12&
S JHHI 225,000& » 5% = 23

3,000
4,500
3,600
12,000
2,250

SX HIXI(O1=2)

Il

HJ

111,044

55,522
55,522

80,424

30,620

307 21201 &

Jl

HJ

111,044

55,522
55,522

80,424

30,620

O gt

MEHY XS BIXI(12IHE)
2,414,0002 » 3% » 12

MEH XX BIXI(100HE)
2,414,000& = 1 « 108

Il

HJ

H X

111,044

86,904

43,452
43,452

24,140

12,070
12,070

80,424

30,620

o2d dEM=

N=X BiXI(D12)

H X

202,776

101,388
101,388

187,656

15,120

307 21201 &

H X

202,776

101,388
101,388

187,656

15,120

g2
MEWSX X BIXI(122HE)
2,414,000& = 798 « 128

H X

202,776

202,776

101,388
101,388

187,656

15,120

ZOHMBEHMESXZR X (JI=)

Jl

HJ

53,108

26,554
26,554

53,108

307 21201 &

X

53,108

26,554
26,554

53,108

g2
MEHSX SR HHXI (122HE)
2,414,000& = 198 « 128

MEH XX BiXI (1000 )
2,414,000& = 198 « 108

4

Il

HJ

53,108

28,968

14,484
14,484

24,140

12,070
12,070

53,108
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EX: S22
HH: RS
e MsiE2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HsaA K& 460,175 350,075 110, 100
307 2Iz2t0| A 460,175 350,075 110, 100
02 DIZHEAAIRE E X 395,675 290,675 105,000
O dId=31E€3HI FF2U3 &It
4,000,000& 4,000
O Mt =gl &I oF2hal &oF
2,000,000& 2,000
O dYESEs &8 821 tHa &I 1,500,000 1,500
O H2AUMSHE HELS EUX
3,000,000& 3,000
O M= g4d3 A& 16,200,000& 16,200
O ZoAHolEEUS &It 3,600,000& 3,600
O Hsdu NEg A2tz &It
6,480,000 6,480
O dMetgd=rM=au3s &It 140,000,000 140,000
O &=2 0ietEds &It 7,330,000& 7,330
O d2AEHE 222 s 2K
4,000,000& 4,000
O d2HE 22z sald4 EIHXE
5,000,000& 5,000
O M2MEHSUHEHE I} 2,565,000 2,565
O dMetgdx 2 MEdsUE &0
9,000,000& 9,000
O M=3 &bl MEsdtia Mzl X3
30,000,000 30,000
O EXAD| &=28 MEH=UI Z2IIEH
55,000,000 55,000
O detgz=dMEsss &I 85,000,000 85,000
O detgd=ia 4+ CMd & e A
& 10,000,000 10,000
O Yaolietd Al =320 &0 4,000,000& 4,000
O Metgd=9 &) =328 &2 3,000,000 3,000
O 2ge1 =303 &It 4,000,000& 4,000
03 QIZIHHEHESIHIEX 49,500 44400 5,100
O &d=Z2Hd=3 8494 13,200,000 13,200
O &dszZH=s dM=s3d 24|
15,000,000 15,000
O HFEZH=ES AIR=2E 25|
15,000,000& 15,000
O &=ZH=3 AMRXNE 2sHl 6,300,000 6,300
04 CIZ2tSHALALS B X 15,000 15,000 0
O &=z dMsUg Nz X& 15,000,000& 15,000
HOIEESE ZHAY 10,000 90,000 A 80,000
401 Al HI L £ 0HHI 10,000 90,000 A 80,000
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2AMd: 2322
g s
@2 Msds2 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 10,000 90,000 280,000
O 89 LFENHE=SHE MES(108H)
10,000, 000& 10,000
AXX2N 018 XN (I13) 35,806 27,304 8,502
Jl| 25,064
< 3,223
s 7,519
307 gl2tol & 35,806 27,304 8,502
Jl| 25,064
< 3,223
s 7,519
02 IZtE M AHE X 35,806 27,304 8,502
O MSHRH™ AEAS 35,806,000& 35,806
J| 25,064
< 3,223
[ia 7,519
Fgd ZE M2 A EUE 50,000 50,000 0
307 glz2+ol & 50,000 50,000 0
04 QIZFHALAIH E = 50,000 50,000 0
O M4z 48 &5 &= OlctEUHS
50,000,000& 50,000
sHEgE =37 AEE2 0 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 QIZFHALALH 2 = 50,000 50,000 0
O sHsdE sxAESe M
50,000,000& 50,000
dEZ SEET 2SS 4,000 4,000 0
307 gl2tol & 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
O Zsz sgs7 23348 Ha
4,000,000& 4,000
FgdEE dg&=F HUAWE 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
O HL® ZE MLTF HUANS
10,000, 000& 10,000
wn=saI| L 3 NEUWS 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZFHALAIE B & 2,500 2,500 0
O wnwsdJl & 8#a&I NEU
2,500,000& 2,500
FgEE 2= S7U3E 8,000 8,000 0
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2N

HH: RS
e MsiE2 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 8,000 8,000 0
04 SIZ2ISHAAIH E & 8,000 8,000 0
O d3dd 5 M2 =220 WA
8,000,000& 8,000
AE Y ANZSH SF2US 8,550 8,550 0
307 212t0| & 8,550 8,550 0
04 SIZ2ISHAAISHE E X 8,550 8,550 0
O XA D AISYH =203 8,550,000& 8,550
AEZLH MEZF MEN= ERUI 13,000 13,000 0]
307 2iz2to| & 13,000 13,000 0
04 SIZ2ISHAAIHE E & 13,000 13,000 0
O &zt 832 2 MENs RS M
Z| 13,000,000& 13,000
=M BHESIE M3 JH A 15,000 15,000 0
307 2Iz2t0| & 15,000 15,000 0
04 SIZ2HSHAAISH E & 15,000 15,000 0
O MLAEZGY HHECIEHS HE
15,000,000& 15,000
AEZ4H HOIEESU 3 4,500 4,500 0
307 212t0| ™ 4,500 4,500 0
04 SIZ2ISHAAISHE E X 4,500 4,500 0
O HEZH M2 =& HOIEE Hal
4,500,000& 4,500
M0l Stote 3l 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSHAFALS B = 10,000 10,000 0
O &=z dM=s2 & sore 10,000,000& 10,000
ZOHe MSHAN K& 72,900 66,680 6,220
307 212t0| & 72,900 66,680 6,220
02 QIZHEAAIRE E X 48,500 48,500 0
O detg Hoeldsual 2ot
40,000,000 40,000
O &d=2 2D A HOE= sl =
2,000,000& 2,000
O &d=2 NMEBMAMESUHSI =IF 2,500,000 2,500
O M2=2Hd EXootetEAs &It
2,000,000& 2,000
O &8 AMAHMAMSUE =IF 2,000,000& 2,000
03 IZIHY P ESIHIEX 24,400 18,180 6,220
O &doM=3 49| 3,780,000& 3,780
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2N 222

Mo YSAE
@2 Msds2 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O Z&= 2Zg3 &l =03l 5,000,000& 5,000
MEHE AT AHE4 19,200 19,200 0
307 glz2+ol & 19,200 19,200 0
02 QIEA A AL 2 19,200 19,200 0
O MEHSXEX 224 19,200, 000& 19,200
Zoel MEsXNEA AU 24 2,000 0 2,000
307 21201 A 2,000 0 2,000
02 I P A A B X 2,000 0 2,000
O ZoHel MEMSXNEA A 24
2,000,000& 2,000
ZEZ HUASEIEU 50 HLUAHS 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 DIZFEHALAFRI B & 2,000 2,000 0
O ZE2 HUAEIEH S3U3
2,000,000& 2,000
EFEZZFAEIEI SF2US W= 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
04 DI2FHALALSE E X 2,000 2,000 0
O ZE==s28aEI H20U3 K=
2,000,000& 2,000
e 5302 U3 JH=A 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZtHALAIHE E X 2,000 2,000 0
O &&= 332 i=Us =l 2,000,000& 2,000
FET §FEIAEI HEME U3 HA 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
04 QIZFHALAIH B = 2,000 2,000 0
O sz &8I H4EMs &2U3 N
zl 2,000,000& 2,000
s =g st 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 DI2HHALALSE E X 2,000 2,000 0
O ¥z =g sotsua 2,000,000& 2,000
HdetgEus2)| & M) REUE HA 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
O detgru=s2) & detgealdI) R
3 = ,000,000& 5,000
HdetEERIMAE 228 d2UHE 1A 5,000 5,000 0
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fAH: S2st22 1
Mo YSAE
el Msds2el (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
O dgE0ME 2T dU3
5,000,000& 5,000
dEAER BHAIZ Odct2Ee =2 el WA 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
O dgNEgd 8HAIZ &d Det2E=Z 03
i = 2,000,000 2,000
H2 SUNSNEA RSXE 9,600 0 9,600
307 21201 A 9,600 0 9,600
02 ItFAAHEX 9,600 0 9,600
O &2 dudMSIEN T ST
9,600,000& 9,600
d= HeI3s 3JIUzg 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
O &= He3s el 40,000,000& 40,000
243 303 ¢ dNEE =X 50,000 100,000 250,000
307 21201 A 50,000 100,000 250,000
04 DIZHHALALSE E X 50,000 100,000 50,000
O @205 L NS SAE S8 AT
ANE 2435 50,000, 000& 50,000
ZOHe AX=AX0IESA B3 NE(JI3) 3,200 0 3,200
J| 2,240
< 288
[ia 672
307 21201 A 3,200 0 3,200
J| 2,240
< 288
[ia 672
02 QIAHFAAHEX 3,200 0 3,200
O ZHel AZ=AX0IEA XF A
3,200,000 3,200
J| 2,240
< 288
[ia 672
MEXsX S HE SO 11,500 0 11,500
307 21201 A 11,500 0 11,500
02 IAHFAANHFEX 11,500 0 11,500
O &892 Fotdl 5,500,000& 5,500
O =&Y E FOtdl 6,000,000& 6,000
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EX: S22
HH: RS
@2 Msds2 (9 ® =)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
essty UO2EARE 25 500,000 0 500,000
308 XAHXIEHSOIA 500,000 0 500,000
08 W=EJl&otistE = 500,000 0 500,000
O e=ssn UsHE dsd 5
500,000,000& 500,000
TEERE X AXAY 800,000 0 800,000
= 240,000
= 560,000
401 Al HI L E0HHI 800,000 0 800,000
Fag 240,000
= 560,000
01 A& H| 800,000 0 800,000
O Z2EERAE ot X AXIAFY 800,000,000 800,000
g 240,000
= 560,000
AESHMESEE 2435 1,300,000 0 1,300,000
= 500,000
= 800,000
401 AlEHI 2 2 0HY| 1,300,000 0 1,300,000
= 500,000
= 800,000
01 Al&H| 1,300,000 0 1,300,000
O EAHE S0HMH Al- 1,000,000,000& 1,000,000
= 500,000
= 500,000
O s NgE=z2 e 300,000,000& 300,000
03 22 724,993 587,967 137,026
J| 130,440
= 594,553
23S 249 724,993 587,967 137,026
Jl 130,440
= 594,553
Z03 2 2922 240,448 244,967 AN4,519
101 e1214| 11,800 6,800 5,000
04 J|12ZtHIZ22NEES 11,800 6,800 5,000
O 2032 .2 33 o8
11,800,000& 11,800
201 et 201,388 210,907 A9,519
01 AR 22l ] 22,146 23,646 A 1,500
O dBtx=2H| 6,300
— FAE ARE P2 3,000,000 3,000
— )| HE AIES 300,000& = 5CH 1,500
— &%) ZHnE 7Y 360,000 = 5CH 1,800




SN 2s2BD
H: Zog a2
el 2052 29 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O dXs(=28Ma HEZ) 300,000& * 14 300
O 2401013 HAE&8X 2
3,000& * 5000 = 1294 1,800
O R S=xgao o 2K 7Y
6,000,000 6,000
O duer 2XJ|(GEEHE) ZHY 2
50,000 = 3= = 104 1,500
O &x=HH 24N 30,000& * 59 * 33 450
O S&A MssS 1 2,000,000 = 23| 4,000
O B¢ EF2H 7Y 4,000& * 1.1 » 90 396
O 2032 39 L 2922 IIs 2
1,400, 000& 1,400
02 352494l 179,242 187,261 A 8,019
O &I HIBAN == 1,875,000& *13] 1,875
O DAINA JIIBAM =2 30,000& *13] 30
O gtgt2te| eyl 242 ,000& = 128 2,904
O s2J| HIEAN =2 150,000& 150
O &I SX22 eyl
200,000& * 1CH * 12& 2,400
O 88 A=y 250,000 = 63| 1,500
O 293 dig9 Y 2 A
600,000 = 23| 1,200
O WHWSI| MaEA L 2 s
3,000,000& = 13| 3,000
O B2 Ma2EA 1,500,000& = 13 1,500
O 23y U EA X224
60,000 = 17CH = 23 2,040
O &8I)e=2 78,000, 000& 78,000
O Sde3 80,0008 * 12& 960
O &+ 22 300,000& = 12& 3,600
O tes 22 2422
100,000& = 12& 1,200
O gt2d d=22032AHAESZ A H|
3,000,000& = 14 3,000
O gt2d s MEX3 A3l
1,000,000& * 14 1,000
O R8s AIE2 60,750 * 12& 729
O d=H| 12,000,000& = 2CH 24,000
O A& &EHl 8Xdl 20,000,000& 20,000
O 2¢& LUANE THABZA 29 (2718)
5,000,000 5,000
O &It e & =2
1,130,690& x12& 13,569
O W2z 2UHALE(JIAH, 88, X¥) X
el 2 482,700 23| x12& 11,585
206 M = dl 7,260 7,260 0
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EX: S22
M 20322
ool 20 2Y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 X2 H| 7,260 7,260 0
O H2HZT E XHHT 22 (28) 7,260
— ALY ST 66,000 604 3,960
— It ¢z 55,000 604 3,300
307 QI2t0| ™ 20,000 20,000 0
02 QI2tAAMAIE E =X 20,000 20,000 0
O Zessdsd 29 20,000,000 20,000
L2208 & NsT2 ) 29 252,000 140,000 112,000
201 et d| 252,000 140,000 112,000
03 A2 HH| 252,000 140,000 112,000
O XM JIg8sdH =4 180,000
— U=soite, 22%4(s 2t 2HE & 29
150,000,000 150,000
— HAU4, Ols S E¥3UA XE 84
30,000, 000& 30,000
O =20 230z sz H"
12,500,000 =44 50,000
O 2¢ 2 Ngom)H =822 JE
22,000,000 22,000
2032 EFHH L AIEES 40,000 20,000 20,000
401 AlEHIZ 201 Y| 40,000 20,000 20,000
01 Al&H| 40,000 20,000 20,000
O 20s& =5 AlE &HHl WE % 40,000
— ATUE, USHA, SIS
20,000,000 20,000
— H2BHE, SUHALE(OIH, S8, =H) W
M2 Al 20,000,000 20,000
gtet2 2 22 ZAIL (22 ALY)(D12) 165,545 162,000 3,545
J| 109,440
= 56,105
201 LBt 9H| 165,545 162,000 3,545
J| 109,440
= 56,105
03 A2 H H| 165,545 162,000 3,545
O 8tEd 2032 J&E2H TS
45,715,000 x1&H 2 45,715
J| 32,000
= 13,715
O 829 ZYNSHH L+2H T2
19,410,000 x 1 & & 19,410
J| 11,646
= 7,764
O st2d 22t dH +20 T2 H
100,420,000 100,420
J| 65,794
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EX: S22
M 20322
e 2o 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| o 34,626
SHEX 230 NEZ2IH 2H(J12) 25,000 21,000 4,000
J| 21,000
= 4,000
201 gEt24dy| 25,000 21,000 4,000
Dl 21,000
= 4,000
03 A2 G H| 25,000 21,000 4,000
O &29 Sl Tz )H
25,000,000 25,000
J| 21,000
= 4,000
Ssltl=sH duegE =2t 2,000 0 2,000
301 et M= 2,000 0 2,000
09 HAIAHI X & 2 2,000 0 2,000
O 2zsn=ssH S4gE &It
2,000,000& 2,000
TAZ 2H 356, 141 308,293 47,848
= 54,888
= 301,253
TS 2H2e 356, 141 308,293 47,848
= 54,888
= 301,253
HYA T 29 149,735 148,175 1,560
101 2121 4| 1,200 1,200 0
04 JIZtHIZ22XNSE S 1,200 1,200 0
O F=HEHY o082 1,200,000 1,200
201 et 9| 113,735 112,175 1,560
01 AP 2t 2| bl 38,160 36,600 1,560
O YstagH| 26,500
— I4I| L HIO ME AEE  3,600,0008 3,600
~ TIHFI W ABR
50,000& * 404 = 12&€ 2,400
— A2 A2E 2 500,000& = 12€ 6,000
— SEAN 23 E20)d EEZ2 M
2,500,0008! 2,500
— Y N THPY
15,000 = 403  12€ 7,200
— Jo|usiz 2 1,200,000 1,200
— AESANEI} T HPY 2,800,000& 2,800
— I =4 800,000& 800
O & 25 ¢ /A3 22 3,000,000& 3,000
O 29x¢ 8,660
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2AMd: 2322
dH: T2 2
Chelr S A2 2g2el
SA BB O () - MM - HES 0l &+ o4 il
— =ANg d2Z08 dasdE =9
70,0008 * 58 * 3 1,050
~ SANE 2R +g
70,000& * 5% = 3 1,050
— NZ2FE M RFID EH 2 5,000,000& 5,000
— HE3to A4 2 £ 30,0003 x 52= 1,560
02 8323l 75,575 75,575
O 3323 % HMA 37,460
— &I BIIEAN =2 150,000& = 12& 1,800
- SHe= 960,000& 960
- a3 100,000& = 12& 1,200
- dIe3 32,000,000 » 14 32,000
— Jlet =3 Y TAHl S 1,500,000 1,500
O datze| eyl 200,000& = 12& 2,400
O 83 AsE94UHd 200,000 = 61 & 1,200
O 283 HAEH 2 At
500,000& = 2& 1,000
O o=l 10,000,000& 10,000
O AIEZHIKXH 3,000,000& 3,000
O T2 EE =S 1,500, 000& 1,500
O &82J dMFH =2
150,000 = 2CH * 122 3,600
OR= D P == 150,000 * 23| 300
O &8sz ¥ HY =2 900,000& 900
O oY dst++2 2,250,000& 2,250
O Muiel(stEfo) 1,875,000 1,875
O Boh & BHAMUZ(AZEY ) 1,500,000 1,500
O txg Hzd EHK Al 1,000, 000& 1,000
O SMS Xt =2 50,000& = 12013 600
O ZHOIX |XEE=H 3,000,000& 3,000
O TANZ2AAE(DtAZ)R A B2l
3,000,000& 3,000
O 832N 2E3 A3l 100, 000& 100
O &OUAIIS MAD 2LR 1,900 *1002] & 190
O &= -d8d TA&E3 Al 100,000& 100
O 2N I3 2= =l 600,000 600
206 M & bl 4,800 4,800
01 =8l 4,800 4,800
O JIAEE |X 2283 #+& 2,000,000 2,000
O =Ego 2 otFE)| 2 1,000, 000& 1,000
O ZzdH g 3¢ 900, 000& *2H 1,800
405 XHobE S HI 30,000 30,000
02 S A7l 30,000 30,000
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EX: S22
HE: T A2 2
ool SHR 2B EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O g0l & et 2
10,000& * 3,000& 30,000
YR A2 T2 29 25,000 25,000 0
201 gBt24y| 25,000 25,000 0
03 A2 G HI 25,000 25,000 0
O g¥g 23 T2 2 (K0t/0420l/4¢0l)
14,000,000& 14,000
O &8sl Yeg / Megdgssots 29
4,200,000 4,200
O SENDA(HE/HS 2ah) 6,800,000& 6,800
HYIEANZ AlE B 40,000 0 40,000
401 AIEHIZL 2 0HY| 40,000 0 40,000
01 Al&H| 40,000 0 40,000
O Y2 AE B4 40,000
— LEDS A 20,000,000 20,000
— 22 A 20,000,000 20,000
22 A2 A2 AE(Z2H]) 109,776 102,528 7,248
= 54,888
= 54,888
101 2124 H] 109,776 102,528 7,248
= 54,888
= 54,888
04 JI2ZtHIZ22NEE S 109,776 102,528 7,248
O HYE SHR DA AFO T2 Q24|
2,287,000& * 4% « 1201 109,776
= 54,888
= 54,888
A2 SAHA N 5,000 5,000 0
405 XHAHFIEHI 5,000 5,000 0]
02 = A 72| 5,000 5,000 0
O A2 AHZ EAH7E 5,000,000& 5,000
eEs 2242 29 18,200 27,590 A9,390
101 2121 4| 500 500 0
04 JIZtHIZ22XNSES 500 500 0
O F=HEY o2 500,000& 500
201 et 9| 17,700 27,090 A9,390
01 AP 22| H| 3,580 4,740 A 1,160
O tx=FHl| 3,580
— AL)| Y U e 22
80,0008 = 12&€ 960
— J|2tdg=E 2 30,000 = 12& 360
— A2 AZRE P 80,0008 = 12&€ 960
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ger249Hl 5,000,000& 5,000
O =&l 8,000 «7&H =122 «12& 8,064
202 O4dl 8,640 7,200 1,440
01 = LH 4 Hi 8,640 7,200 1,440
O Z3Ea TH2 29 0l
20,0003 x3&x 122 122 8,640
HWees (2221 120,000 320,000 200,000
HEAHHX= 120,000 320,000 200,000
HWEAHAHXS(MSIEIISHES) 120,000 320,000 A200,000
702 JIS38ES 120,000 320,000 A 200,000
(EPIE=RSE—= 120,000 320,000 A200,000
O 6 5 55 XA 90,000, 000 90,000
O S4sM U NEH A2 X
30,000, 000 30,000
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